EEREBEHRSRE=2YI/RE (RRFHESE) KFE
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RF AR ER M RAT (RSHRIL)
BERKEARSE RFHID

ERREE (uSv/h)
. B ) | msmmAD HE - LS HE - L%
No. A LIRELH FitEsth HEAR |MEES| (B = Ry W%
nEEE| PR [wEEx| o) (neEx
#E #E #E
50cm 0.10 0.11
1790 HRXET | EARISERFT =) 8H6R BHADHRE
im 0.10 0.1
50cm 0.10 0.11
1791 HERET  (MEEEES— mEFH/MN 8H6R BHADHRE
im 0.09 0.1
50cm 0.08 0.09
1792 HRET  |BOfEtEVE— B O 8H6R BHADHRE
im 0.07 0.09
50cm 0.17 0.20]
1793 | HRRET |FRERH BOFFH 8A6H ENOHRAE
im 0.16 0.19
50cm 0.09 0.11
1794 HRET  |HEAREHELLS— HEFRLH 8H6R BHADHRE
im 0.09 0.10]
50cm 0.08 0.09
1795 HRET | EHTFERE HEFEHT 8H6R BHADHRE
im 0.08 0.1
50cm 0.07 0.09
1796 | HARET |WESBEMELS— WEFEFS 8A6H ENOHRE
im 0.07 0.09
50cm 0.11 0.13
1797 HRET  |@wEAsNHLELE— FEF/E 8A6R BHAO#HRE
m 011| o014
50cm 0.11 0.16
1798 | HRRET |BIEESFH HEFTFRIE 8A6H EAOHBE
m 010 014
50cm 0.09 0.12
1799 | ERRET | b EAREE Wb FiRE 8A6E ENOHBE
m 009 011
=6 . 3 50cm 0.12 0.14]
1800 | wmmr |LWIRAEEEEBR ) epmm 8A7A ENDHEE
R 1
m 011 013
B = = 50cm 0.11 0.13
g1 | ey |BETREEHCCERE ) | gy 8A78 BAOHHE
K m 011 013
50cm 0.09 0.11
1802 | ERRET |l ESRtELE— bR 8A7TH ENOHBE
m 008 009
50cm 0.10 0.11
1803 | ERMET |KAEZBEMLE— KABFEEH 8A7TH ENOHBE
m 010 012
50cm 0.13 0.19
1804 | ETRRET |HAERELA— KRBT 8A7E EBAOHBE
im 0.14 0.17
J— . . N 50cm 0.10 0.12
1605 | ey |BERFRERERECY |4y megp 8A78 BAOHAE
im 0.09 0.11
50cm 0.07 0.09
1806 | THRRET | FHMIMSERECLS—  |[RIFXER 8A7E EBAOHBE
im 0.07 0.10]
50cm 0.08 0.11
1807 |  ERRET | FEAERF WINFTERN 8A7E EBAOHBE
im 0.08 0.11
50cm 0.08 0.09
1808 | ETRRET  |MIATEERA HIFEE 8A7E EBAOHBE
im 0.08 0.09
50cm 0.09 0.11
1800 | ETRRET |BIBEKAR WIFES 8A7E EBAOHBE
im 0.08 0.11
50cm 0.09 0.09
1810 | HERET |/VEAISERRR WIFHER 8A7E EBAOHBE
im 0.09 0.10]
50cm 0.15 0.19
1811 | R |ERERRR WINFER 8A78 EBAOHRE
im 0.15 0.17
50cm 0.10 0.11
1812 | ERRET B/ THEER WIIFE/ T 8A78 EBAOHRE
im 0.10 0.12
50cm 0.09 0.10]
1813 | HERET |ERETEAZSELA—  [RIIFER 8A78 EBAOHRE
im 0.09 0.10]
50cm 0.07 0.07
1814 HERET  |[{CHERM wiF-m 8A7A B o#HRIE
im 0.07 0.07
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